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%% BRI OFE R CMEHE i AR O A S SR HAKED BEEED LR - kg/nf
e iﬁ%lq%ﬁ’ﬁﬁ:_ 0.30  keg/nf LA | BEATEAv M EBD B EE D TR B _—
FEUSREE % PRAE S D H i 28 B | X B ED LR
ERE 4.5 % | REMEZ DRT/T K E _ cm
EanRI (V) U ERE V= 10.0(%)
BL & 58 EE (m)

al =0.85+(1 - 3.000V = 100) =1.21

a2 =1.00=(1-2.000V = 100) =1.25

@3 =100=(1-4y3V -+ 1000 =1.21

al, a2, o 3DFKEZEE LAHE LET, a = 1.25

m=a X SL= 30.0

UEXY, BEAFHE (m) = 30.0(N/mfi) & LET, m = 30.0(N/mf)
Kt A MEE(W/C)

W/C =30.6 = (30.0+ 23.3)X 100 = 57.41(%) W/C= 57.0(%)
EARTIK & (W) UHERE = 156 (kg/nf)
BAirtE A FE(C)

C=W = W/C X 100 = 156 = 57.0 X 100 = 274 (kg/nf) = 274 (kg/nt)

Ve =C +pc= 274 = 3.04= 90(0Q/nf) Ve= 90(Q/nt)
HEMOIFFE (L /nf) YR ERE =  635(LQ/nf)
BACHEME(G)

Vg =V XZEFEE- 100 = 635 X 61.0 +~ 100 = 387(Q/nt) Vg= 387(Q/nf)

JBEL 40 @ 40 @ 20(HEL) FEHICHEE 14.760 : 14.760 : 7.380

Vgl = Vg X ( 14.760 = ( 14.760 + 14.760 + 7.380))= 155(0 /uf) Vgl=  155(Q /nf)

Vg2 =(Vg — Vgl) X ( 14.760 = ( 14.760 + 7.380))= 155(Q /uf) Vg2=  155(0 /nf)

Vg3 = Vg — Vgl - Vg2 = 77(Q/nt) Vg3= 77(Q /uf)

Gl = Vgl X pgl = 155 X 2.71 = 420(kg/nf) Gl= 420 (kg/nt)

G2 = Vg2 X pg2 = 155 X 2.71 = 420(kg/nf) G2= 420 (kg/nt)

G3 =Vg3 Xpgd3= 77 X 2.71 = 209 (kg/nf) G3= 209 (kg/nt)
BALHE M £ (S)

Vs =a/))-}SFE-( W + Ve + Vg +Vair)

= 1000 -( 156+ 90 + 387 + 45 )= 322(Q/nf) Vs=  322(Q/nf)

Vsl =Vs X( 50 =( 50+ 50))= 161(2/nf) Vsl=  161(Q /uf)

Vs2 = Vs — Vsl = 161(2/nf) Vs2=  161(Q/nt)

S1 =Vsl X psl = 161 X 2.55 = 411 (kg/nf) S1= 411 (kg/nt)

S2 =Vs2 X ps2 = 161 X 2.65 = 427 (kg/nt) S2= 427 (kg/nf)
HEM R (s/a)

s/a= Vs+— (Vs+Vg) X100 = 322 =( 322 + 387) X100 = 45.4(%) s/a= 45.4(%)
EAIRFNAI £ (Ad)

Adl = C X BN+ 100 = 274 X0.80+100= 2.19(kg/nf) Adl=  2.19(kg/nt)

fiia3k (kg nf)

tavh [EFHQEFIM®| K [HEHMO[MEMO [MEHOMEMO HEHO | HEHG| BAEKID| IBFKIQ RMAIEG

274 - - 156 411 427 - 4201 420 209 2.19 - -

KEAVRHE [ 57.0 % | KEAME | - % | E MR ] 45.4 %




